ERARSE/BIES—RR

sk | HFst BIETR | ARER | EXEE p— P BETR | KRBk | EXEE

(%voL) ok | &8 (%VoL) Er e (BS-1)
==l CH, 5.0 B (HA 0.55 RERkE C:HeO 2.8 FB 2.00
Tk CHs 3.0 BB 1.04 FR L C-H:0 3.4 F (R A) 1.60
Ak CsHs 2.1 B (HA 1.56 B CHic0 1.9 HB 2-6
T CiHio 1.9 B (FHA 2.05 CEFRERR C:H0 2.0 FHA 2.1
K& CsHro 1.4 F B 2.48 — R C:HO 3.4 B (BN 1.59
F2E CoHis 1.1 H B 2.97 ZTEk CsHis0 1.5 B 4.48
EREE CHie 1.2 H B 3.45 ARz CHOH 6.0 B 1.11
Bl CsHis 0.8 H B 3.86 Zr C.H:0H 3.3 B 1.59
Tz CoHao 0.7 Z A 4. 40 (5] CaHs0 2.0 B 2.10
NS C:Hs 2.4 B (B 1.88 ETE C4Hs0H 1.4 Z A 2.55
EINRA CsHio 1.4 BB 2.42 3 CsHz0 1.2 Z A 3.04
FT ke CaHio 1.8 B (BA) 2.01 SREE C:H:0 2.0 B 2.07
ek CeHiz 1.3 B B 2.90 STH C.Hi0 1.7 Z A 2.55
Sk CsHiz 1.4 B 2.48 FARE CH,0 7.0 B A 0.99
B CsHis 1.0 F B 3.86 B C:H:0 4.0 HB 1.52
ZHEIFTIE | CHe 1.2 B B 2.90 [Z5]> C:H0 2.3 B 2.0
ZEIFREE | CHu 1.1 F B 2. 64 ARG C:H0 2.8 B 1.94
ZEREIR CeHre 0.9 Z A 3.9 TR C:Hs0 1.4 FB 2.5
BFEFDR | CHu 1.2 B B 3.39 AR C:HO 2.6 B 2.48
1% CH. 2.7 B (EA) 0.97 FA Z, Bfd CH:0 1.8 EH B 2.48
AV CaHs 2.0 B (BN 1.46 7N CeHic0 1.1 Z A 3.4
1-TH CHs 1.6 B (FA) 1.46 Z s C-H.0, 5.4 Z A 2.10
2-T % (i) CHs 1.7 B (BN 2.0 ERER FR AR CH.0, 4.5 B 2.07
2-T ks (R) C.Hs 1.8 B (D 2.0 FRER B CaHs0; 2.7 B 2.55
T CH 2.0 B (FRA) 1.84 ARSI EE CaHs0; 3.1 B 2.56
STk CeHs 1.8 B (B 2.0 BEE O lis CH:0, 2.2 B 3.04
2R C:H; 2.3 B (BA) 0.93 SIS C:H.0; 1.7 EB 3.5
PR CsHs 2.5 B (HA 1.381 i CsHi:0, 1.4 HB 3.99
* CeHe 1.3 H B 2.8 BtEa T Kfg 2.6 B 2.97
=P CHs 1.2 BH B 3.9 AGER RS C4H0; 2.8 BB 2.97
K CsHio 1.0 B 3. 66 e C.H.0 2.3 B 2.35
ZHX CsHio 1.1 B B 3.69 Y SRk CHs0 2.0 B 2.5
KTl CeHs 1.1 Z A 3.6 Sk CH.CL 8.1 EA (EA A) 1.8
HETh C:H0 3.0 BB 0.75 STk CHsCL 3.8 A 2.2




ERARS &/ FNES—RER

SpkkE | st BETRR | ARfEK | EXNEE p— P BETR | ARfElE | EXEE
(%VOL) ok | =S (%VoL) Mok | @51
RTIR C.H:Br 6.7 B 3.79 HE K C,HsNO, 3.4 B 2.58
AT C.H,CL 2.6 FB 2.71 THHERCBE | CHsNO, 3.0 FB 2.59
ST C4HsCL 1.8 B 3.2 gHE HCN 5.6 B 0.93
BTE C.H,Br 2.6 B 4.7 FRB%Z CHN 4.9 =R Q== )] 1.09
2% C:H:CL 3.6 B (B A 2.15 =% CHN 2.8 22| 1.55
SR CsHsCL 2.9 H B 2.64 TtnE CsHaN 1.7 B 2.73
S CeH-CL 1.3 Z A 6.5 a5 H, 4.0 23] 0.09
1,2-Z82 ‘
C-HCL, 6.2 B B 3.35 AR 1.2 B 2.49
-
1,1-Z82Z .
- C.H.CL, 7.3 HB 3.4 E A 0.6 HB 2.79
mHs H.S 4.3 EH B 1.19 b C:~Ciz 1.1 E B 3-4
Rk CS: 1.3 B 2. 64 TS AR 0.6 Z A 5.0
Vi CHsSH 2.8 B B 2.14 o Ci—Cis 0.6 Z A 4.5
R CHN 3.0 FB 1.42 a5 NH; 15.7 0.6
AR CsHaN 3.0 HB 1.8 Lo 0.6 >2
FHES kT CH:NO; 7.3 Z A 2.11 VNS (I 0.8 4.84
BEREBZSE/Voc SE—E
Spkkm | 7t FRER | o#E | ANEE p— 5FR BRER | o¥E | XEE
(ppm) (ppm) (BS=1) (ppm) (ppm) (ZBSA1)
—S Lk co 500 1 0.97 HE Tk CH.0 20 0.1 1.52
misE H.S 100 1 1.19 FAfE CH.0 20 0.1 1.03
e NH; 100 1 0.6 85 0, 5 0. 01 >1
—EHm S0, 20 0.1 2.26 fiEkT SiH, 50 0.1 1.1
—SHR NO 100 1 1.05 2% C.HsCL 100 1 2.15
—SHk& NO; 20 0.1 3.2 7% C-H. 100 1 0.97
a5 0, 30%VOL 0.1 1 ZEihK CO; 5000 1 1.52
a5 CL, 10 0.1 3.21 *5 COCL, 1 0. 01 3.5
—HkE CLO, 1 0. 01 2.3 Eh F. 1 0.01 1.31
a5 H, 1000 1 0.07 wESTE THT 50mg/m* | 0.1 mg/m’ 3.04
s HCL 50 0.1 1.3 P CeHs 20 0.1 2.8
s PH; 5 0.1 1.15 =2 CHs 100 1 3.9
ERiAt HF 10 0.1 1.27 l==F3 CaHio 100 1 3.69
gHE HCN 50 0.1 0.93 VS CeHio 100 1 3.66
LS ASH, 1 0. 01 2.66 AR C:H0 300 1 2.48
RIS HBr 50 1 2.71 =27 CHsN 100 1 1.09
AR CH:SH 20 0.1 1.59 iz CHN 20 0.1 3.21




